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(1) @+xMdy+x(L+4y>)dx=0 > y@D)=0

(2) y'-2y"+y=e"+x

(3) xy'=4y+x%*

(4) Xy +xy' =4y =01y =7 > y@)=-3

1 t>a
(L)z:& 3 f(t) =4 £ < % # (Laplace Transform) F(s)

0, t<a
2. u(t—a)= 15%

(@ f(@)= tcost +~/2sin+/2t
(b) f(t)= 1—e*sin(t—1u(t-1)
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QB RF(s)F g < F (3F)%# (1) F(s) = o5 4 e i
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t, 0<t<g?2
y'—4y=1f(t) ; y(0)=y'(0)=0 - f(t)={0
, t>2
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4. B ?'I ft = h 5 )B’-:,E! ;‘% 2
R g ) {-1—1, 0<t<~r i " 20%
(1) & ()2 @& = ¥ i
1 1 1 1
2) FAP ()2 Bhk S=l-T4Z -4 ...
(2) =q1* (D= & 3TET7 g

5 fw B3 E(x, y,z) = (x°y® - 24)T+4x5yzzT— y*z® K i divF 2
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